


P = 3 x6 = 18

18

2 = 2(3) +2 = 8
S

4(5)+ 332)

= 26 26

odd



y = 5(9)- 3

= 42 42

OP

P = 4 CF)-10
= 18 18

9= 423 - 365)

= 8 - 15 = - 7 - 7

V= 10 + 10(7) =So
So



c = c.

8

V = 3(4) + 224,2

= (2 + 32 44
= 44



3(5)+4 - 2)

= 15 - 8 7

i = 422
- 3

14 = 4x 3.5

2 = 14/ = 3 . 5

5) - 53+ / = - I

- 14

3(3) - 42)

= 9 - &

-3) = - = -3

- 5



5 = 2 - 4)+315)
E

= -8 + 15=7

CO = 2 m+30

10 = Im
5

m = 5

co = DX2C

c = = 12... 5

12
. 5



2(53+ 52-3)

=10 - 15

-5

5C43- 7

= 80 - F

- FS-

73

27=To
x+10=
x = 13 . 5 - 10

3. 5

= 3 .5



h = 52 -23+ 2
22

= 20+2

- 22

47 = 5+
2
+y

5t
2
= 45 13

2

t =9
t = 13

V= 3)-4) +2-4)2

= - 12 + 32 20

= 20



3)7) +2253

= 2 1 + 10
21

= 21

c = (6) - F

= 2C - F

= 1 F
If

V = 3+ 10(6)

= 63 63

3(4) - 6

= 12 - 6

6
=6



L = 9(3) +2 -S

= 27 - 12

= 15 15

9 = 5(6) + 3C- 4)

= 30-12
If

= If

H = CC5) -2 = 20 - 2= 18

I

A = 4(3) +52-2)
= 12 - 10

= 2 2



1 = 9 -3) +2(4)

- 27+S

- - q - 19

q = 6 -4) - 5
= -24 -5
=
- 29 - 29

H = 12 - 2 -6)

= 24

24

A = 5(10) + 6- 23

= 50 - 12 38
z 38



1 = 9(5- 2) = 27

27

a= 5C-46
-33 = 60

60

x = 42598- 12
= 100 - 12

= 88
88

A = - 4 -2 - 73
=
- 4 + 14 =10

16



C-5)2-428/229
= 25 - 64
=
- 39

- 39

d = =

2

A = 2 (7) - F(3)

= 14 - 2/

= - 7
- F

w = 5c-3)+ 3
= 45 +3
= 48 CF



A = 4(3)(8) = 12

12

A = b27+6) CIO)

=65
65

V= 12 + C -63(5)

= 12 - 30

=- 18
- 18

y = -2
(12) - F

- -
24 - F = - 31

- 3)



s = 3(4) + 4(2)(4)2
= 12 + 16

= 28
28

s = -5(3K + t(H)(3)2
=
- 15 + 18

- 3
3

s=25
I#- 25 = 24 = 4

4
6



5(6) +2 = 32

32

4(9) - 8

= 36- 8

= 28
28

12 C (1) + 963)

= 132 + 27
= 159 159

&
20 21 19 5



36

5(6) - 2

= 28 28

6+ 4 = w

lo

- 2 +20
- I 3
G

3

P = 2(3) + 2(9)
= 6 + 18 24
= 24



3 (2 . 2)+ 0-5

= 6 .6 + 0-5 F - I
= F - 1

0. 5 + 0 . 75 +2 . 2
= 1 : 25 +2 . 2 3. 45
= 3

. 43

50+ 45 x21

2995

Hire = 50 + 45 xd

545 = 50 + 45d

d = 11 days



F= 35 .6

50-32
=
C
-

1: 8

C = 10

4x9 + 24
=
- G
-

- 10



5(4+9)

65

14-18

-4

30 = 2 W +22

zw = S

w = 4

y = 400
- 50

= 350



C = 100+45

= 145

245 = 25d + 45

200 =25d

d = 8

W

=

6

59= 2x + 35

2x= 24

x= 12



s = x-
Fot

m = 3x -8X2

= -48



156 = 120 + 17 -5 +0 .50

18.5 = 0 .5 d

d = 37

x=7

#-3 =

3=
4



V = 23 + 12

= 35

u= 30 - 16

= 14

-u =40
- 1

= 7

x3

6x - 34 = 5

y -2x = - 17



=

times 4 y = 7 x((x)

y = 00

38
- 6 = 513



mn = 40

-8 x -5

- 4 X-10

- 2x- 20

y = - 8 x - 2

= 16



C
YW = 30-34

4 x = 30-

Ux
= 30-34
-

2y

4x = 30 - 12
-

8

Yx = 144

x = 36


